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1=1016.0m
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1PNo 1P.3 v | 1.066 | 1.066
KN| 1 [ 2 Lc 34.351
1A 17-02-24 L 114.351
R 250.000 D | 57.487 | 57.487
L | 40.000 | 40.000 | so | 39.989 | 39.989
AR| 0.267 | 0.267 | W 37.492
XM | 19.996 | 19.996 | A | 100.000 | 100.000
X | 39.974 | 39.974 | Nc 3.059

@ BV

© BVR

@ DC

X Y
NO.25 93680.383 105441.257
NO.25+10.00 93687.984 105434.758
NO.26 93695.584 105428.260
NO.27 93710.785 105415.262
NO.28 93725.986 105402.265
KA.3-1 93733.589 105395.764
NO.29 93741.176 105389.254
NO.30 93756.091 105375.931
KE.3-1 93763.278 105368.975
NO.31 93770.189 105361.753
NO.32 93783.122 105346.503
KE.3-2 93785.773 105343.050
NO.32+8.00 93787.947 105340.123
NO.33 93794.847 105330.306
NO.34 93805.773 105313.555
KA.3-2 93808.108 105309.881
NO.35 93816.498 105296.674
NO.36 93827.223 105279.793
NO.37 93837.948 105262.912
KA.4-1 93840.799 105258.423
NO.38 93848.728 105246.065
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1PNo 1P.4 v | 1.508 | 1.593 m 1PNo 1P.5 v | 3.534 | 3.534
K No 1 2 LC 24.641 K No 1 2 LC 0.000
1A 20-17-12 CL 109.905 1A 34-10-09 CL 71.564
R 190.000 D 55.370 \ 55.370 R 60.000 D | 36.551 \ 36.551
L 42.632 42.632 | So | 42.608 ‘ 42.608 L 35.782 35.782 | So | 35.641 ‘ 35.641
AR | 0.398 0.398 w 34.064 AR | 0.886 0.886 w 18.713
XM | 21.307 21.307 A 90.000 ‘ 90.000 XM | 17.838 17.838 A 46.335 ‘ 46.335

K X | 42.578 | 42.578 | Nc 3.422 X 35.465 | 35.465 | Nc 3.697
7 &, Vi

Sz
%,

No,50+2.0

S O
> 5
4 o

1PNo 1P.6 Y 2.967 ‘ 2.967
K No 1 2 LC 56.462
1A 67-31-08 CL 132.088
R 80.000 D 72.841 ‘ 72.841
L 37.813 | 37.813 | So | 37.719 ‘ 37.719
AR | 0.743 0.743 W 53.970
XM | 18.871 | 18.871 A 55.000 ‘ 55.000
X 37.602 | 37.602 | Nc 17.120
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f&“ %"%
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X Y
NO.37 93837.948|  105262.912
KA.4-1 93840.799 105258.423
NO.38 93848.728 105246.065
N0.39 93860.112|  105229.625 .
KE.4-1 93864.976 105223.339 «"ﬁ
N0.40 93872.828|  105214.200
KE.4-2 93881.634|  105205.205
NO.41 93887.082 105200.184
N0.42 93902.478|  105187.423
KA.4-2 93914.545 105178.144
N0.43 93918.346|  105175.250
NO.44 93934.259|  105163.134
NO.45 93950.171 105151.018
KA.5-1 93960.004|  105143.532
NO.46 93966.063 105138.875
NO.46+10.00 93973.775|  105132.511
NO.47 03980.936 | 105125.538| e, |
NO.47+6.00 93984.804 105120.953
KE.5-1 93986.080|  105119.235
NO.48 93992.109 105109.038
NO.48+15.00 93997.821 105095.177
N0.49 93999.459|  105090.453
KA.5-2 94000.711 105086.736
KA.6-1 94001.722|  105083.721
NO.50 94005.712 105071.456
NO.51 94010.296 105052.009
KE.6-1 94010.868|  105047.128
NO.52 94010.764 105032.066
N0.53 94006.290|  105012.626
NO.54 93997.145|  104994.898
KE.6-2 93996.357 104993.769
NO.55 93984.153|  104979.734
KA.6-2 93969.937 104966.849 o
N0.56 93969.326|  104966.317| o/
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